


PRODUCT DESCRIPTION

ADVANTAGES OF VENTILATED FACADES

Ventilated facades main difference with other facade solutions consists on the inclusion of an external layer,
separated from the main wall by an air chamber. This allows to improve the waterproofing, acoustic, thermal and
aesthetic properties.

The main components in a ventilated facade are:

- Covering: the skin of the building, composed by ceramic plates.

- Anchoring structure: elements that support and fix the covering against forces.
- Air chamber: between the covering and the insulation.

- Insulation and waterproofing: applied on the outer face of the supporting wall.
- Supporting wall: it fransmits the forces to the main building structure.

ADVANTAGES OF FRONTEK

Frontek extruded ceramic panels are the best solution for ventilated facade
covering, as long as it has several functional and construction advantages:

- Easy and quick to install
- Great strength and durability
- Lightness of the system
- Replacing individual tiles
- Excellent stability of the ceramic covering, without risk of
cracking or detachment.
- Removing condensation on the inner wall face
, - Weather protection
- - Low maintenance
s P - Easy to clean
i - Aesthetic beauty

y




SUPER PLUS SYSTEM

SUPER PLUS SYSTEM FOR FRONTEK PIECES:

This highly technical solution is specially designed for the toughest
construction requirements. While it is fast and easy to assemble,
horizontal bars provide more resistance against high wind forces and
allows bigger distance between vertical profiles.

Frontek panels can easily be mounted and replaced by sliding the fitting
clips along the horizontal bar making it easy to maintain.

SYSTEM DESCRIPTION:

The skin of the building consists on Frontek ceramic plates, which protect
the main wall against sunlight, rain and wind.

Frontek panels are sustained by the anchoring structure, comprising
extruded aluminum clips that fit easily onto the horizontal guides.

The support system consists on horizontal extruded aluminum bars
screwed to vertical squared-shaped profiles. This horizontal guides
provide more stability and strenght and transfers the loads to the vertical
sections. The vertical structure is responsible for transmitting the forces of
walls, floors, efc ... to the building structure.

The vertical structure is fixed to the bearing wall by supporting steel
brackets. Retaining brackets are added in order to help to prevent
horizontal movement of the vertical profiles against wind forces.

The target of this ventilated facade system is to create an air chamber
between the coating and the insulation material, which lets the air flow
up with the consequent thermal, acoustic, andaesthetic benefits.




SUPER PLUS SYSTEM ASSEMBLY PROCESS

PICTURES DOSSIER







frontek

Frontek ceramic panel. Super Plus System

TECHNICAL DOSSIER

WE HELP YOU TO BUILD YOUR DREAM

INDEX OF DRAWINGS IN A3 FORMAT:

1- FRONTEK STANDARD MODULE
2- ELEMENTS AND ACCESORIES
3- HORIZONTAL PROFILES WITH FRONTEK PIECES
4- SECTION PROPERTIES
5- ELEMENTS DETAILS
6- DETAILS
6.1- VERTICAL SECTION
6.2- HORIZONTAL SECTION
6.3- CORNER. HORIZONTAL SECTION
6.4- TOP CLADDING. VERTICAL SECTION
6.5- BOTTOM. VERTICAL SECTION
6.6- WINDOW. HORIZONTAL SECTION
6.7- WINDOW. VERTICAL SECTION




FRONTEK STANDARD MODULE
SUPERPLUS SYSTEM

— W [] ’4 1 ! :

i i i i il
B | L L =
B u _ = ==

J S AI
- L
| |

E E Ei 5 1 1
== = == | ‘ T

: f ; Lo ’ 7

900 900
A-A
o : UH b ?i £ | i ﬁ \ iﬁ
s g i = =
S = — -
794 6

405

B-B'

120

405

frontek

- technologic ceramics -

Shanghai: +86 021 5273 0108
Guangzhou: +86 020 8944 7597
info@frontekbuild.com

PROJECT

CLIENT

ARCHITECT

CONSULTANT

KEY PLAN/ELEVATION
STANDARD MODULE
SUPERPLUS SYSTEM

DESIGN -

DRAWING BEATRIZ QUINTANA

REVIEW

SCALE 1/250  SIZE A3

UNITS  Mm

SHEET  01-01

DATE 2015-05-05




FRONTEK STANDARD MODULE. CONSTRUCTION DIAGRAM

1. FIX BRACKETS TO SUPPORTING WALL 2. APPLY INSULATION

4. SCREW HORIZONTAL PROFILES TO 5. SLIDE CLIPS ON HORIZONTAL PROFILES

VERTICAL PROFILES 6. APPLY GLUE LINE ON HORIZONTAL PROFILES

7. SLIDE PANELS ON CLIPS

:
/E .

/E I ]
/’

|

3. SCREW VERTICAL PROFILES TO BRACKETS

-\

\
AN

AN

AN

AN

A N

A Y

AN

8. FINISHED SUPER PLUS SYSTEM MODULE

frontek

- technologic ceramics -

Shanghai: +86 021 5273 0108
Guangzhou: +86 020 8944 7597
info@frontekbuild.com

PROJECT -

CLIENT

ARCHITECT

CONSULTANT -

KEY PLAN/ELEVATION
STANDARD MODULE

DESIGN -

DRAWING BEATRIZ QUINTANA

REVIEW -

SCALE 1/250  SIZE A3

UNITS  Mm

SHEET  01-02

DATE 2015-05-05




N~
<
.85 =
= %) ™
Y 5 c- i Ak
E 29 - O ) w
ELEMENTS AND ACCESORIES OREE ? 3 N .
=0 8 £ Q Q N n o
e — 59 = O & 0
Svoo << = o
C 2 o2 E s ' o S| 9
D oot ] . . — Z oz 3] Y s & 5
O +573 O = S < ol =20 &
O O .= 0o%¢ — e = z >
€ of¢ O [ = ) <z Z £ =z
e o O | z T [%2] a o [C) g o ﬂ wn — w
L O 250 | R ] O Z = el = T EBE W E
2 535 |Q o & @) & o 2 =2 53 &5 z ¥ %
+ . »nO.t a O < O V¥ N N x| »n D w»n| O
DRAWING REF DESCRIPTION & PROPERTIES
TUBE SHAPED PROFILE FOR VERTICAL STRUCTURE
PC 001
VERTICAL SUPPORT TUBE FOR TUBE SHAPED PROFILES UNION
PC 021
GRECOGRES STANDARD HORIZONTAL PROFILE
GG 7385
GRECO GRES TOP/BOTTOM HORIZONTAL PROFILE
GG 7387
GRECO GRES CLIP FOR HORIZONTAL PROFILE
EC 7386
SUPPORTING BRACKET L= 150mm, THICKNESS= 3mm.
2 SLOTTED HOLES FOR WALL FIXING + 2 SLOTTED HOLES AND 2 DRILL
, s HOLES FOR WALL FIXING
@ N
] ECI 108
b
® S
®

ECI 102

RETAINING BRACKET L= 60mm, THICKNESS =3mm.
1 SLOTTED HOLE FOR WALL FIXING +1 SLOTTED HOLE AND DRILL HOLE
FOR PROFILE FIXING




ELEMENTS AND ACCESORIES

Guangzhou: +86 020 8944 7597

Shanghai: +86 021 5273 0108
info@frontekbuild.com

frontek

<

Z

0 <

= Z

z 3 3

ONs] N

' = O o

<>(< =

= [riya 5

— <Z,: o Z «@
O = 2; O

b= L = = zZ
O . E > <> z Z %
e % 5 % ﬂ—g ©) % w
O = o0 o) > 5 ) =
& O < O < o QO o &

1/20 SIZE A3

SCALE

UNITS  Mm

02-02

SHEET

2015-05-05

DATE

DRAWING REF DESCRIPTION & PROPERTIES

BIT END SELF DRILLING SCREW DIN 7504 STAINLESS STEEL,
HEXAGON HEAD 5,5x1 9.

ECI 010
DIN 7504 SCREW WITH A2 FLAT HEAD 4,2x12,7

ECI 012
ENSEMBLE STAINLESS SCREW DIN 933 M8x80 HEX. HEAD+ 2 LARGE
WASHERS +1 NUT.

ﬁ @ ECI 026

ENSEMBLE LAG SCREW DIN 571 M8X80 HEXAGONAL HEAD WITH LARGE
WASHER AND NYLON RAWPLUG ASSEMBLED

GMP 018
ENSEMBLE LAG SCREW DIN 571 M8X120 HEXAGONAL HEAD WITH LARGE
WASHER AND NYLON RAWPLUG ASSEMBLED

GMP 028
EXPANSION ANCHOR 8x75 LARGE WASHER

GMP 021
EXPANSION ANCHOR 8x110 LARGE WASHER

GMP 051
SELF DRILLING SCREW FOR IRON THICKNESS UP TO 8 MM

ECG 115
THREADED STUD FOR ZIN CHEMICAL 8X100

ECG 025-8

ECG 025-12

THREADED STUD FOR ZIN CHEMICAL 12X160




G0-G0-G10¢C 31vd

€0-¢0  133HS

WW  S1INN

ev 37ZIS 0z/L I1VOS
T MIIAY

VNVLININD ZILY3I8 ONIMVIA

- NOIs3d

SIFOSIDOV ANV SINIWA1
NOILVYAITI/NVId A

INVLIINSNOD

1D31IHOYY

- IN3ITO

- 103rodd

Wodp|INg>|aju0y@Oo4ul
L6GL Y768 0Z0 98+ :noyzbupng
8010 ££2G LT0 98+ :1Pybunyg

. $21WDJLd J1Bojouyde; -

MU0l

ESORIES

~

¢

~
~—

(

~—

ELEMENTS AND A

-
<
=
pd
2 @
5 T
Q2 : g
o) o
— o |
& 5 =
L N Z m
o 4 = N
O W v mvn
z
W & Hmm T
ol 53 2
Z o) 20 &
N Zz 2
O & Dm =
= Q ZZ S
=l = 2¢ .
[ o) 08 o)
C [ r O [
ol I S =
w3 <2 <
(| o o < o
— b w —
1K) w 1K)
] A% ]
> 50O >
Q] O a Q]
(] o™
N N =
o o P
L
L O O o
oZ o o wn
Z
>
<
@)




G0-G0-G10¢C 31vd

[0-€0  133HS

WW  S1INN

ev 37ZIS oL/t I1VOS

MIIATY

VNVLININD ZILY3I8 ONIMVIA

- NOIs3d

S3031d YILNOYH HLIM SdWV1D
NOILVYAITI/NVId A

INVLIINSNOD

1D31IHOYY

IN3ITO

103rodd

Wodp|INg>|aju0y@Oo4ul
L6GL Y768 0Z0 98+ :noyzbupng
8010 ££2G LT0 98+ :1Pybunyg

. $21WDJBd JiBojouydsy -

MU0l

CES

(

—

PROFILES WITH FRONTEK PIE

PROFILES WITH PIECES

GRECO GRES STANDARD HORIZONTAL PROFILE

GRECO GRES TOP/BOTTOM HORIZONTAL PROFILE

Y

]




N~
. w3 -
» E ~ < ™
J S oz Z <
E Q2o - ) w
SECTION PROPERTIES OREE 3 G N -
5 °R5 = 0 N e Q
+ O CTI (@] '<—: E DEE [Te)
C g oes e 2 o S s | &
D ot 35 . . zZ a0 ) R =9 =
S 573 O = S & : =123 8
O O .= 0o%¢ — e L 4 S)
€ oo |oO = E > < Z z £ 3
£ 5 o= e = T %) = O O T 3 Y v = 4
L 9 £s® a [i] Q Z = ) = P=e = E =
e 5359 |Q 5 2 o) oo L 22 5 z £ 5
+ . »n0O.st a O < O ¥ 0 O 0 ¢ »n D w6 0O
DRAWING REF DESCRIPTION & PROPERTIES
DESCRIPTION Aluminum horizontal squared profile
AREA (cm?2) 3.040
T DELIMITATION SQUARE (cm) X: -2.000, 2.000
, Y: -2.000, 2.000
! CENTRE OF GRAVITY (cm) X: 0.00
d 4 PCOO] T 000
| MOMENT OF INERTIA (cm4) X: 7.337
: Y: 7.337
2 e PRODUCT OF INERTIA (cm4) XY: 0.000
40 TURNING RADIUS (cm) X: 1.553
Y: 1.553
v DESCRIPTION Aluminum horizontal T profile
| AREA (cm?2) 3.121
e DELIMITATION SQUARE (cm) X: -5.000, 5.000
e —X Y: -4.795, 1.235
CENTRE OF GRAVITY (cm) X: 0.00
o
© PC002 Y: 0.00
MOMENT OF INERTIA (cm4) X: 9.889
Y: 16.008
- | PRODUCT OF INERTIA (cm4) XY: 0.00
2
108 TURNING RADIUS (cm) X: 1.780
: Y: 2.265
DESCRIPTION Aluminum horizontal Omega profile
| 100 AREA (cm?2) 3.221
DELIMITATION SQUARE (cm) X: -5.000, 5.000
Y: -1.596, 0.904
: CENTRE OF GRAVITY (cm) X: 0.00
. PC7453 o E——
MOMENT OF INERTIA (cm4) X: 2.662
Y: 19.055
33 PRODUCT OF INERTIA (cm4) XY: 0.00
TURNING RADIUS (cm) X: 0.909
Y: 2.432




G0-G0-G10¢C 31vd

L0-60  133HS

WW- SLINN

ev 37ZIS oL/l 3IVOS
T MIIAY

VNVLININD ZILY3I8 ONIMVIA

- NOIs3d

S1V13A SINIw3IT3
NOILVYAITI/NVId A

INVLIINSNOD

1D31IHOYY

IN3ITO

103rodd

Wodp|INg>|aju0y@Oo4ul
L6GL v¥68 0Z0 98+ :noyzbupng
8010 €25 1Z0 98+ :1pyBuoyg

. $21WDJBd JiBojouydsy -

MU0l

ELEMENTS DETAILS

ALUMINUM PROFILES DETAIL

GRECO GRES STANDARD HORIZONTAL PROFILE

1.5

25 33

Gl

Gel

8'G

1.5

G'8

8l

G'¢

G/

LS

81

9°61

8L

9.8

1.5

1.8 4.9

36

GRECO GRES TOP/BOTTOM HORIZONTAL PROFILE

26.2

1.5

25 33

Gl

Gl

Gel

8'G

1.5

LS

8'G

G'¢

<G

G€

10.5 26.5

45




G0-G0-G10¢C 31vd

¢0-60  133HS

WW  S1INN

ev 37I1S oL/t I1VOS

T MIIAY

VNVLININD ZILY3I8 ONIMVIA

- NOIs3d

S1V13A SINIw3IT3
NOILVYAITI/NVId A

INVLIINSNOD

1D31IHOYY

IN3ITO

103rodd

Wodp|INg>|aju0y@Oo4ul
L6GL v¥68 0Z0 98+ :noyzbupng
8010 €25 1Z0 98+ :1pyBuoyg

. $21WDJBd JiBojouydsy -

MU0l

ELEMENTS DETAILS

BRACKETS DETAIL

MM

151MM THICKNESS =

SUPPORTING BRACKET L

50

08
@
€
LGl
G¢clL G'L G L 8¢ G L GL GCl
RS2
o O O Q. O
L Gl L L Gl L
0 0l LL oL o€
&
e &« & & = &

11.5

125 25 9.5 3

80

50

MM

2
= J

60MM THICKNESS

RETAINING BRACKET L

50

08
£
09
L S/ 8 4
/w.%m\
O, O O ~
AT
(92
sz ol sz
(92
Yo}
o
Te}
N
e 0
N
=

80

50




VERTICAL SECTION.

Frontek ceramic piece

<l

Glue line

Bit end screw. DIN 7504 Stainless steel hexagon head 5.5x1.9

UUEE
N

Greco Gres standard horizontal profile. Extruded aluminum

Clip for horizontal profile. Extruded aluminum

Retaining bracket ECI 60. Extruded aluminum

T
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
\
}
|
=K
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|

A Ej‘; @ Bit end screw. DIN 7504 Stainless steel hexagon head 5.5x1.9
O /|
‘/ ﬁ\“ —— Expansion anchor
| ‘\,:,/ Tube shaped vertical profile 40x40x2 mm. Extruded aluminum
“\,,/‘ Insulation
\ ﬁ ‘/\‘ Waterproofing
\:,/ Bearing wall
()
g | [ ]
|
526 40 274 20
140

frontek

- technologic ceramics -

Shanghai: +86 021 5273 0108
Guangzhou: +86 020 8944 7597
info@frontekbuild.com

PROJECT

CLIENT

ARCHITECT

CONSULTANT

KEY PLAN/ELEVATION
VERTICAL SECTION

DESIGN -

DRAWING BEATRIZ QUINTANA

REVIEW
SCALE  1/20 SIZE A3
UNITS  Mm

SHEET  06-01-01

DATE 2015-05-05




HORIZONTAL SECTION.

-~ Bearing wall fro n.l-e k

Exansion anchor - technologic ceramics -

Shanghai: +86 021 5273 0108

S— S— —— ‘ S— S— T— Waterproofing Guangzhou: +86 020 8944 7597
@ | info@frontekbuild.com
Insulation
O
~ PROJECT
wn
Retaining bracket ECI 60. Extruded aluminum
o : CLIENT
2 q @] Ensemble stainless screw DIN 933 M8x80
i I
nE  E - Tube shaped vertical profile 40x40x2 mm. ARCHITECT
;ﬁ o 5 A Extruded aluminum
& e 1 —— Greco Gres standard horizontal profile.
e 0  ——— — — m— 0 m— ———  —— ——— — — Y —————————————— Extruded aluminum CONSULTANT
< - = e =

KEY PLAN/ELEVATION
HORIZONTAL SECTION

Frontek ceramic piece DESIGN -

L— Clip for horizontal profile. Extruded aluminum DRAWING BEATRIZ QUINTANA

Bit end screw. DIN 7504 Stainless steel hexagon head 5.5x1.9 REVIEW

SCALE  1/20 SIZE A3

UNITS  Mm

SHEET = 06-02-01

DATE 2015-05-05




HORIZONTAL SECTION. OUTSIDE CORNER.
FRONTEK MITER CUT

Bearing wall

Waterproofing

Insulation

RS

Retaining bracket ECI 60. Extruded aluminum

—— Ensemble stainless screw DIN 933 M8x80

=W\ ‘@

Tube shaped vertical profile 40x40x2 mm.
Extruded aluminum

Bit end screw. DIN 7504 Stainless steel

Y ‘@

hexagon head 5.5x1.9

140

Greco Gres standard horizontal profile.
Extruded aluminum

Clip for horizontal profile. Extruded aluminum

Frontek ceramic piece

A =gl B

= Iy

L A t@j iy
/ - N
> |
>
L | | [ | ] H i H
2 NI \
© R |
N \
L R
: i =
Ly ooy ) B
— S = —
e e T o I |
> |
o~ r \
=7 ’’'’’™’>’’>’>">">">">>>">>>>>">>>>"=""">s>"""""—-—--——-------------------------- \
- == ———— =

Aluminum profile for corner

frontek

- technologic ceramics -

Shanghai: +86 021 5273 0108
Guangzhou: +86 020 8944 7597
info@frontekbuild.com

PROJECT

CLIENT

ARCHITECT

CONSULTANT

KEY PLAN/ELEVATION

HORIZONTAL SECTION.
OUTSIDE CORNER

DESIGN -

DRAWING BEATRIZ QUINTANA

REVIEW

SCALE  1/20 SIZE A3
UNITS  Mm

SHEET  06-03-01

DATE 2015-05-05




HORIZONTAL SECTION. OUTSIDE CORNER.
NARROW ALUMINUM CORNER PIECE

Bearing wall

Waterproofing

Insulation

1

RS

Retaining bracket ECI 60. Extruded aluminum

—— Ensemble stainless screw DIN 933 M8x80

=W\ ‘@

Tube shaped vertical profile 40x40x2 mm.
Extruded aluminum

Bit end screw. DIN 7504 Stainless steel

Y ‘@

hexagon head 5.5x1.9

140

Greco Gres standard horizontal profile.
Extruded aluminum

Clip for horizontal profile. Extruded aluminum

Frontek ceramic piece

2 =

= I

L A t@j iy
B N L
N ! i
o
= T |
0 I \
o N \
N |
e
— I [
. fi— |
I ) ]
?\;ﬁ e s A e S E E—
T S ———— |
RO %

Aluminum profile for corner

Narrow aluminum section for corner
with sealant

frontek

- technologic ceramics -

Shanghai: +86 021 5273 0108
Guangzhou: +86 020 8944 7597
info@frontekbuild.com

PROJECT

CLIENT

ARCHITECT

CONSULTANT

KEY PLAN/ELEVATION

HORIZONTAL SECTION.
OUTSIDE CORNER

DESIGN -

DRAWING BEATRIZ QUINTANA

REVIEW

SCALE  1/20 SIZE A3

UNITS  Mm

SHEET  06-03-02

DATE 2015-05-05




HORIZONTAL SECTION. OUTSIDE CORNER.
WIDE ALUMINUM CORNER PIECE

Bearing wall

Waterproofing

Insulation

1

RS

Retaining bracket ECI 60. Extruded aluminum

—— Ensemble stainless screw DIN 933 M8x80

=W\ ‘@

Tube shaped vertical profile 40x40x2 mm.
Extruded aluminum

Bit end screw. DIN 7504 Stainless steel

Y ‘@

140

hexagon head 5.5x1.9

Greco Gres standard horizontal profile.
Extruded aluminum

Clip for horizontal profile. Extruded aluminum

Frontek ceramic piece

2 =

= Ing

L A t@j iy
| B N
[N | TR
R ‘
N IR
—— e — — — — = — HRE
L 00 IR
© I \
S b \
N ‘
NI \
. IR
g i |
1) ) il
;ﬁ e o A RS E — i
N \
~ - |
36.5

Aluminum profile for corner

- Wide aluminum section for corner
with sealant

frontek

- technologic ceramics -

Shanghai: +86 021 5273 0108
Guangzhou: +86 020 8944 7597
info@frontekbuild.com

PROJECT

CLIENT

ARCHITECT

CONSULTANT

KEY PLAN/ELEVATION

HORIZONTAL SECTION.
OUTSIDE CORNER

DESIGN -

DRAWING BEATRIZ QUINTANA

REVIEW

SCALE  1/20 SIZE A3
UNITS  Mm

SHEET  06-03-03

DATE 2015-05-05




HORIZONTAL SECTION. INTERIOR CORNER.

v Bearing wall
v / \/ Exansion anchor
— —_— ] — — — Waterproofing

w w -~ Insulation

< Retaining bracket ECI 60. f O '|'e k
Extruded aluminum r n

\ Q @j Ensemble stainless screw DIN 933 M8x80 - technologic ceramics -
L ﬂ ﬂ A ‘ Shanghai: +86 021 5273 0108
= = Tube shaped vertical profile 40x40x2 mm. Guangzhou: +86 020 8944 7597
= e Extruded aluminum info@frontekbuild.com
,7@:: ?E::::::::::::::::::::::::::::::::::::‘
v PP 1 e T T Greco Gres standard horizontal profile. PROJECT
U:E;«’ | ! | S Extruded aluminum
| 8 O s |
| | | ~——
iEl 1 1 = —— Clip for horizontal profile.
e ﬁf‘i Extruded aluminum CLIENT
< S\ i}
\ H Frontek ceramic piece
S | ARCHITECT
I | Bit end screw. DIN 7504 Stainless steel
I — ii hexagon head 5.5x1.9
I
|
! CONSULTANT

A==y I :

N

KEY PLAN/ELEVATION

HORIZONTAL SECTION.
INTERIOR CORNER

DESIGN -

DRAWING BEATRIZ QUINTANA

REVIEW -

SCALE  1/20 SIZE A3

O S g

UNITS  Mm

SHEET  06-03-04

DATE 2015-05-05




VERTICAL SECTION. TOP CLADDING.
FRONTEK PANEL CLADDING

DIN 7504 Screw with A2 flat head 4,2x12,7.

— Sealant < 3% Greco Gres stainless steel clamp for Frontek piece

Aluminum profile 3 mm thickness

Greco Gres top/bottom horizontal profile.
Extruded aluminum

Bit end screw. DIN 7504 Stainless steel hexagon head 5.5x1.9

Glue line

Frontek ceramic piece

frontek

- technologic ceramics -

Shanghai: +86 021 5273 0108
Guangzhou: +86 020 8944 7597
info@frontekbuild.com

Ensemble stainless screw DIN 933 M8x80
PROJECT

——— Expansion anchor CLIENT

ARCHITECT

Tube shaped vertical profile 40x40x2 mm.

Extruded aluminum
CONSULTANT

Supporting bracket ECI 60. Extruded aluminum

KEY PLAN/ELEVATION
VERTICAL SECTION. TOP
Waterproofing FRONTEK CLADDING

Insulation

Bearing wall DESIGN -

DRAWING BEATRIZ QUINTANA

REVIEW

2 51 40 27 20 SCALE  1/20  SIZE A3
UNITS MM

140 SHEET  06-04-01

DATE 2015-05-05




VERTICAL SECTION. TOP CLADDING.
FRONTEK PANEL CLADDING

Greco Gres Omega profile

— Sealant

Greco Gres stainless steel clamp for Frontek piece

DIN 7504 Screw with A2 flat head 4,2x12,7.

777 2L A 7/ an [ Frontek ceramic piece
)/ NI
TH ([ D LA A e
' ! ; W Greco Gres top/bottom horizontal profile.
| | Extruded aluminum
| |
| SV ‘/ ' ‘
| |
% @‘\“\%\ B ;7: Bit end screw. DIN 7504 Stainless steel hexagon head 5.5x1.9
I I ‘ ‘ )
| N -, Glue line
| | ~
| |
‘ ‘ .
| | -
i i N Frontek ceramic piece
| | 9
N ronte
| | |
1 1 > - technologic ceramics -
| | ~
1 1 (] Shanghai: +86 021 5273 0108
O | \_ Guangzhou: +86 020 8944 7597
| | info@frontekbuild.com
| AN | N
1 ﬂ _ ] | — Ensemble stainless screw DIN 933 M8x80
| |
—— | [
Ol g
| | ‘/ \‘ —— Expansion anchor CLIENT
| |
| | 2
O | - ARCHITECT
| | NG
i '\ i — Tube shaped vertical profile 40x40x2 mm.
-1/
I\ ! \ \ Extruded aluminum
1 O 1 CONSULTANT
i 3 ‘ - ‘ Supporting bracket ECI 60. Extruded aluminum
\ | | . Insulation KEY PLAN/ELEVATION
— | ! ! ) VERTICAL SECTION. TOP
g i i 7% Waterproofing FRONTEK CLADDING
— J i i | ,,/‘ Bearing wall DESIGN -
| |
/| / | | ‘/’“‘ DRAWING BEATRIZ QUINTANA
\ | !
REVIEW
2 51 40 27 20 SCALE 1/20  SIZE A3
UNITS MM
]40 SHEET 06-04-02
DATE 2015-05-05




VERTICAL SECTION. TOP CLADDING.
FRONTEK MITER CUT

Greco Gres Omega profile

Sealant < 3%

Greco Gres stainless steel clamp for Frontek piece

DIN 7504 Screw with A2 flat head 4,2x12,7.

Greco Gres top/bottom horizontal profile.
Extruded aluminum

O

/)

7/

Glue line

Frontek ceramic piece

£\
D

(W

e

))

/N
N

{1

N\

O

Ensemble stainless screw DIN 933 M8x80

——— Expansion anchor

Tube shaped vertical profile 40x40x2 mm.
Extruded aluminum

Supporting bracket ECI 60. Extruded aluminum

Insulation

Waterproofing

Bearing wall

27

140

Bit end screw. DIN 7504 Stainless steel hexagon head 5.5x1.9

frontek

- technologic ceramics -

Shanghai: +86 021 5273 0108
Guangzhou: +86 020 8944 7597
info@frontekbuild.com

PROJECT

CLIENT

ARCHITECT

CONSULTANT

KEY PLAN/ELEVATION

VERTICAL SECTION. TOP
FRONTEK CLADDING

DESIGN -

DRAWING BEATRIZ QUINTANA

REVIEW -

SCALE  1/20 SIZE A3

UNITS  Mm

SHEET  06-04-03

DATE 2015-05-05




VERTICAL SECTION. TOP CLADDING.
ALUMINUM CLADDING

4

Re=111}

=

s

Aluminum sheet

i

Greco Gres top/bottom horizontal profile.
Extruded aluminum

RV 1\

smsj

=

Glue line

Frontek ceramic piece

))

/N
N
N\

{1

O

Ensemble stainless screw DIN 933 M8x80

——— Expansion anchor

Tube shaped vertical profile 40x40x2 mm.
Extruded aluminum

Supporting bracket ECI 60. Extruded aluminum

Insulation

Waterproofing

Bearing wall

{ ) q’ {

L =

51

40

27

140

Bit end screw. DIN 7504 Stainless steel hexagon head 5.5x1.9

frontek

- technologic ceramics -

Shanghai: +86 021 5273 0108
Guangzhou: +86 020 8944 7597
info@frontekbuild.com

PROJECT

CLIENT

ARCHITECT

CONSULTANT

KEY PLAN/ELEVATION
VERTICAL SECTION. TOP
ALUMINIUM CLADDING

DESIGN -

DRAWING BEATRIZ QUINTANA

REVIEW -

SCALE  1/20 SIZE A3
UNITS  Mm

SHEET  06-04-04

DATE 2015-05-05




VERTICAL SECTION. BOTTOM.

7

1 1 >
i i "\‘ Frontek ceramic piece
I | | |
% : = Insulation
I I N
4 : : 1\ /1 Waterproofing
| | Y
A : : —~ Bearing wall
: : 9
g i i N
O |
| - | _/
— N | .
U:HED | ﬂ B | \ Ensemble stainless screw DIN 933 M8x80
— NEZA ]
T | - |
! ! | ‘ ——— Expansion anchor
| | ( )
| |
| | (Y
A | | L)
i O : 2= Supporting bracket ECI 60. Extruded aluminum
| | (Y
\ — \ ‘ ‘
| < |
1IN | \_/
< | z . |
! ! | \‘ Greco Gres top/bottom horizontal profile.
O ! \_J Extruded aluminum
| | |
| | 4
3 i i ‘/ | Glue line
7 I | Ny
! = B 4 Bit end screw. DIN 7504 Stainless steel hexagon head 5.5x1.9
| | ( \
ﬁ i /N é%\\\\;\ B ‘\ ,‘
I . i /
\ i i )
—_ A ?ﬂ/ | = |
A \ I Perforated sheet
l\ I I I I I I I

frontek

- technologic ceramics -

Shanghai: +86 021 5273 0108
Guangzhou: +86 020 8944 7597
info@frontekbuild.com

PROJECT

CLIENT

ARCHITECT

CONSULTANT

KEY PLAN/ELEVATION

VERTICAL SECTION. BOTTOM
FRONTEK FINISHING

DESIGN -

DRAWING BEATRIZ QUINTANA

REVIEW -

SCALE  1/20 SIZE A3
UNITS  Mm

SHEET  06-05-01

DATE 2015-05-05




HORIZONTAL SECTION. WINDOW
FRONTEK 452 CUT

DIN 7504 Screw with A2 flat head 4,2x12,7.

Greco Gres Omega profile

Greco Gres stainless steel clamp for Frontek piece

Exansion anchor
Bearing wall
Waterproofing

Insulation

Retaining bracket ECI 60. Extruded aluminum

Tube shaped vertical profile 40x40x2 mm.
Extruded aluminum

Ensemble stainless screw DIN 933 M8x80

L Bit end screw. DIN 7504 Stainless steel o
hexagon head 5.5x1.9 €L AN

Frontek ceramic piece

Clip for horizontal profile. Extruded aluminum

Greco Gres standard horizontal profile. Extruded aluminum

Narrow aluminum section
for corner with sealant

frontek

- technologic ceramics -

Shanghai: +86 021 5273 0108
Guangzhou: +86 020 8944 7597
info@frontekbuild.com

Wide aluminum section
for corner with sealant

PROJECT

CLIENT

ARCHITECT

CONSULTANT

KEY PLAN/ELEVATION

HORIZ. SECTION. WINDOW
FRONTEK FINISHING

DESIGN -

DRAWING BEATRIZ QUINTANA

REVIEW

SCALE  1/20 SIZE A3

UNITS  Mm

SHEET  06-06-01

DATE 2015-05-05




HORIZONTAL SECTION. WINDOW
ALUMINUM FRAME

[Eog —

A A NcAY JUEL Ber

" Sealant

D DIN 7504 Screw with A2 flat head 4,2x12,7.

IAN Exansion anchor fro n -|-e k
Bearing wall . .
- technologic ceramics -
Waterproofing

Shanghai: +86 021 5273 0108
| lati Guangzhou: +86 020 8944 7597
I nsulaton info@frontekbuild.com

; ; PROJECT

Retaining bracket ECI 60. Extruded aluminum

Tube shaped vertical profile 40x40x2 mm. CLIENT
Extruded aluminum

g @j Ensemble stainless screw DIN 933 M8x80
ARCHITECT
0 7 ) S

Aluminum sheet 2mm thickness

e CONSULTANT

KEY PLAN/ELEVATION
HORIZ. SECTION. WINDOW
ALUMINIUM FRAME

L Bit end screw. DIN 7504 Stainless steel DESIGN -
hexagon head 5.5x1.9

DRAWING BEATRIZ QUINTANA

Frontek ceramic piece

REVIEW

Clip for horizontal profile. Extruded aluminum

SCALE  1/20 SIZE A3

Greco Gres standard horizontal profile. Extruded aluminum

UNITS  Mm

SHEET  06-06-02

DATE 2015-05-05




VERTICAL SECTION. WINDOW
EDGEWISE FRONTEK PIECE

frontek

Guangzhou: +86 020 8944 7597

Shanghai: +86 021 5273 0108
info@frontekbuild.com

- technologic ceramics -

PROJECT

CLIENT

SIZE A3

1/20
06-07-01
2015-05-05

DRAWING BEATRIZ QUINTANA

VERTICAL SECTION. WINDOW

ARCHITECT
CONSULTANT

KEY PLAN/ELEVATION
FRONTEK CAPPING
DESIGN -

REVIEW -

SCALE

UNITS  Mm

SHEET

DATE

_— Greco Gres top/bottom horizontal profile.
‘ ‘ Extruded aluminum

Glue line

. Bit end screw. DIN 7504
“' ‘ Stainless steel hexagon head 5.5x1.9

n

{— Frontek ceramic piece

Aluminum U profile 1 mm thickness

Aluminum sheet 2mm thickness

DIN 7504 Screw with A2 flat head 4,2x12,7.

Greco Gres stainless steel clamp for Frontek piece

77

) ‘:’\‘77 ;;z‘ “

<l )

Greco Gres top/bottom horizontal profile.

@ Extruded aluminum
-
S 2 Bit end screw. DIN 7504
N Stainless steel hexagon head 5.5x1.9
‘ | Glue line
N
L)
\:’/ Tube shaped vertical profile 40x40x2 mm.
“” \‘ Extruded aluminum

/,; —— Expansion anchor

‘\,,,/‘ Ensemble stainless screw DIN 933 M8x80
‘/\‘ Supporting bracket ECI 60. Extruded aluminum
7% Insulation
‘\,,, | Waterproofing
‘/\‘ Bearing wall
_/
20

140




VERTICAL SECTION. WINDOW
EDGEWISE FRONTEK PIECE

frontek

Guangzhou: +86 020 8944 7597

Shanghai: +86 021 5273 0108
info@frontekbuild.com

PROJECT

CLIENT

ARCHITECT

SIZE A3

1/20
06-07-02
2015-05-05

DRAWING BEATRIZ QUINTANA

VERTICAL SECTION. WINDOW

CONSULTANT

KEY PLAN/ELEVATION
FRONTEK CAPPING
DESIGN -

REVIEW -

SCALE

UNITS  Mm

SHEET

DATE

Greco Gres top/bottom horizontal profile.
Extruded aluminum

Bit end screw. DIN 7504
Stainless steel hexagon head 5.5x1.9

Frontek ceramic piece

Aluminum U profile 1 mm thickness

Aluminum sheet 2mm thickness

DIN 7504 Screw with A2 flat head 4,2x12,7.

Greco Gres stainless steel clamp for Frontek piece

Greco Gres top/bottom horizontal profile.

140

|
[ ! ‘ ‘ Extruded aluminum
| I I I I I I
! S -
D | I B AN
i ﬁ i Q_\\\“\;\ @ — Bit end screw. DIN 7504
Ej i ! ‘ ‘ Stainless steel hexagon head 5.5x1.9
i ioﬁ E ‘/ \‘ Glue line
| |
I I |
- * | |
I ! ! ‘/,,,\‘ Tube shaped vertical profile 40x40x2 mm.
1 1 \_J Extruded aluminum
| |
‘ ‘ 7N
i J | [+ Expansion anchor
H— il L/
i : = Ensemble stainless screw DIN 933 M8x80
| |
i : ‘ | Supporting bracket ECI 60. Extruded aluminum
‘ ! 7N
1 1 — Insulation
} } _/
A : : X Waterproofing
| | ‘ ‘
| | .
i ‘ — Bearing wall
O[]
51 40 27 20




Stainless steel hexagon head 5.5x1.9

N~
S Z
» Ez ~ = :E ™
J L o 3, 8 Z <
E ﬁ? 85 z Z ) 1N}
q) o &g £ 0=¢9 S > 9
C g $33 s |82 8§ ol . 5 @
> 83 a Z D O e 83 5
% + 5% a O é > AE 0O —| 2] o] &
L C —
O 555 16 = = 2 S5z 2 £ =z
LS5 225 | % z T 2 a2 Q 2 @ 9 2 L w
© 535 |© = 4 o) TE2 £ 2 3 S5 Z £ %
S T S0 |E O < O ¥y>< | ol olx|&&| D » A
VERTICAL SECTION. WINDOW
ALUMINUM FINISHING
—] | P |
7=y \_/
|
I I ‘ 1
| |
| | \_J
A / O
| | ()
g 3 | | <
1 1 ‘ \‘ Frontek ceramic piece
| |
| | . .
| ! ‘/ \‘ Greco Gres top/bottom horizontal profile.
} } ) Extruded aluminum
| |
| | <
| '
| | _/
ﬁ ! Sy B : Bit end screw. DIN 7504
I I 2
| |
| |
i
i s
| |

SUNRRLNSINY

NN\
SSSN

3%>

777777 -
Wﬁﬁm’/’;ﬁ ll/’lll’lIIIIIIIIIIIIIIIIIIIII

7

Aluminum sheet 2mm thickness

Glue line

Aluminum sheet 2mm thickness

Greco Gres top/bottom horizontal profile.
Extruded aluminum

140

1
|
1
} ISl ‘B ‘/ \‘
| |
1 | @ N Bit end screw. DIN 7504
Ej i ﬁ\“\? N Stainless steel hexagon head 5.5x1.9
| |
\ | NS ‘ ‘ Glue line
| |
B | | 7N
4 | |
i i ‘\‘ Tube shaped vertical profile 40x40x2 mm.
; | 74 Extruded aluminum
I I ‘ ‘
| |
} O ! |~/ L Expansion anchor
[t
I | N
1 } 1 Ensemble stainless screw DIN 933 M8x80
| | L/
| | 7
| } — Supporting bracket ECI 60. Extruded aluminum
| |
| | ‘ ‘
1 1 S Insulation
| |
I I 7N
A i i } } Waterproofing
[ [ >
A ‘ ‘ Bearing wall
| | ( \
O ] u
51 40 27 20




	2015-05-04 Super Plus System Dossier
	2015-05-04 Super Plus System
	2015-05-04 Super Plus System 01-01
	2015-05-04 Super Plus System 01-02
	2015-05-04 Super Plus System 02-01
	2015-05-04 Super Plus System 02-02
	2015-05-04 Super Plus System 02-03
	2015-05-04 Super Plus System 03-01
	2015-05-04 Super Plus System 04-01
	2015-05-04 Super Plus System 05-01
	2015-05-04 Super Plus System 05-02
	2015-05-04 Super Plus System 06-01
	2015-05-04 Super Plus System 06-02
	2015-05-04 Super Plus System 06-03-01
	2015-05-04 Super Plus System 06-03-02
	2015-05-04 Super Plus System 06-03-03
	2015-05-04 Super Plus System 06-03-04
	2015-05-04 Super Plus System 06-04-01
	2015-05-04 Super Plus System 06-04-02
	2015-05-04 Super Plus System 06-04-03
	2015-05-04 Super Plus System 06-04-04
	2015-05-04 Super Plus System 06-05
	2015-05-04 Super Plus System 06-06-01
	2015-05-04 Super Plus System 06-06-02
	2015-05-04 Super Plus System 06-07-01
	2015-05-04 Super Plus System 06-07-02
	2015-05-04 Super Plus System 06-07-03


